
The sum of the reciprocals of two consecutive integers is 
ହ

଺
⎯. What are the integers?
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𝐿𝑒𝑡 "𝑥" =  1𝑠𝑡 #
𝐿𝑒𝑡 𝑥 + 1 = 2𝑛𝑑 #

𝐿𝐶𝐷: 6𝑥(𝑥 + 1)
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                                6(𝑥 + 1) + 6𝑥 =  5𝑥(𝑥 + 1)
                                    6𝑥 + 6 + 6𝑥 =  5𝑥ଶ + 5𝑥
                                                      0 = 5𝑥ଶ − 7𝑥 − 6
                                                      0 = (5𝑥ଶ−10𝑥) + (3𝑥 − 6)
                                                      0 = 5𝑥(𝑥 − 2) + 3(𝑥 − 2)
                                                      0 = (5𝑥 + 3)(𝑥 − 2)

𝑥 = −
3

5
⎯⎯

𝑥 ≠ 0 𝑥 ≠ −1

Restrictions

𝑥 = 2

1𝑠𝑡 𝑛𝑢𝑚𝑏𝑒𝑟 = 2
2𝑛𝑑 𝑛𝑢𝑚𝑏𝑒𝑟 = 3

Reject

𝑥 = 2
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